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QUESTION 1

The condition known as Down syndrome occurs in about 1 in 1,500 children when the mothers are in their twenties.
About what percent of all children born to mothers in their twenties are likely to have Down syndrome? 

A. 0.0067% 

B. 0.67% 

C. 6.7% 

D. 0.067% 

E. 0.00067% 

Correct Answer: D 

 

QUESTION 2

Three high schools can serve a town of 105,000 people. How many people could be served by 4 high schools? 

A. 130,000 

B. 135,000 

C. 140,000 

D. 145,000 

E. 150,000 

Correct Answer: C 

 

QUESTION 3

Which of these is equivalent to 35C? (F = 9/5 C + 32) 

A. 105 degrees F 

B. 95 degrees F 

C. 63 degrees F 

D. 19 degrees F 

E. 5.4 degrees F 

Correct Answer: B 
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QUESTION 4

Use the pie chart to answer question The chart shows quarterly sales for Cool-Airs air-conditioning units. Which of the
following combinations contributed 70% to the total? 

A. 1st and 2nd quarters 

B. 1st and 3rd quarters 

C. 2nd and 3rd quarters 

D. 2nd and 4th quarters 

E. 3rd and 4th quarters 

Correct Answer: E 

 

 

QUESTION 5

A cafeteria has three different options for lunch. 

For $2, a customer can get either a sandwich or two pieces of fruit. 

For $3, a customer can get a sandwich and one piece of fruit. 

For $4, a customer can get either two sandwiches, or a sandwich and two pieces of fruit. 

If Jan has $6 to pay for lunch for her and her husband, which of the following is not a possible combination? 

A. three sandwiches and one piece of fruit 

B. two sandwiches and two pieces of fruit 

C. one sandwich and four pieces of fruit 
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D. three sandwiches and no fruit 

E. one sandwich and three pieces of fruit 

Correct Answer: A 
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